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SSC CHSL-CGL REASONING. MEGA QUIZ (QUESTION)

Q1. Select the set which is most similar to the given set.
S GYE B T4 S QY T THE F A g

T s '

(7,12,22,37)

(a)2,7,12,32

(b) 3,8,18,33

(©)4,8,19, 34

(d) 8,13,22,38

Q2. Given below are two statements and two conclusions. You have to answer on the basis of the statement.
Your answer will be

1. Mohan'’s age is twice that of Ram

2. Ram’s age is half that of Shyam.

Conclusions :

[. Shyam and Mohan are of the same age.

[I. Mohan and Shyam, both are elder to Ram.

T &7 FAT S a7 AR 30 T | ST AT AT I IAL aAT g| ST IAL g
1. W &7 917 T8 fit g 7 AT 2

2. T T S 93TH T 311 & 31eft g

et

I 9TH 3T Higd AHT 31 & o

1L /1 ¥ 931, 91 79 § 92 g

(a) If conclusion I is correct/ < =T [ 9L &

(b) If conclusion Il is correct/ Ffe fAeFT 11 95T &

(c) If neither I, nor Il is correct/ & 7 AT I, 3T 7 Ao 11 951 §

(d) If both I and II are correct./ Ife fAeFY [ 3T Ilﬁﬂsfﬂ@%

Directions (3-4): In every questions below a statement has been |12 Months Subscription
given followed by two assumptions shown as I and II. You have

decide which as assumption exists in the statement and answer SSC C HS L
accordingly as follows?

Q3. Statement : KA MAHA PACK

Inculcate saving habit in your school-going child.
Assumptions : Live Class, Video Course,
[. Saving habit is expected. Test Series, eBooks

II. Good habits should be inculcated from the childhood.

Bilingual (with eBooks)
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= R 1T v@s v ® uF e Rgqn s € e stgEsr & sqAT 1S 1 w3a g sruer [Rvig aar @ &
FIW AT ATAT T T FIT FT ATl T F SO HLAT § o 7 F e S 3m 8-
S :

e ST aTer ST9" ag1 o 99 § 99d 6T Ed UaT e

AqHTT :

I = ¥ e it AT Y I g

IL T=0 | & ST=il 3Madl &l Safds HedAT AT gy

(a) If only assumption I exists in the statement./ T Fael AT [ Fa7 § 2T g

(b) If only assumption II exists in the statement./ F% Fae AT [ Fa9 & [T 8

(c) If either I or II exists in the statement./ T3 A 1 AT [ H & UF F9 § [igd g
(d) If both I and II exist in the statement./ T3 SITATT [T 11 AT &, FI9 H [igd g

Q4. Statement :

The root cause of all social evils is love for wealth.
Assumptions :

[. Wealth gives power and makes selfish.

II. All those who love wealth are anti-social

g :

Tt ATATISTR AT AT FHIT GA-ATAAT |

STHT :

. & oTf<k <aT g S areff a=rar g

IL & T ST &9 & I/ F3d g F THIS @S0l 2id g

(a) If only assumption I exists in the statement./ TT Fae SITATT [ F99 | 2T 2|

(b) If only assumption II exists in the statement./ FT% Fae ATAT 11 F1 & F=T g

(c) If neither I nor II exists in the statement./ T AT | T 11 H § TF F7 § A=T g
(d) If both I and II exist in the statement./ Tf% EGCICH A1 AT B, w9 | [ied g

Directions (5-6): Identify the missing number in the following tables?

et arfersr § q 9T 919 H92
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Q6.

2 3 1
1 2 1
3 4 7

(@5

(b) 3

(o1

(d)2

Directions (7-8): In the following questions, each question has a number series, out of which one number
in the series is not in order. You have to identify that number?

RaferfeET i 7, 7T0F v § TF 9T @ g, T gaAre § U G qT FH § Al 5] SAIHY g ST ATq FAT
&

Q7.2,6,18,32,50,72,98
(@) 6

(b) 18

(c) 32

(d) 50

Q8. 541, 514, 312, 743, 945, 816
(a) 312
(b) 945
(c) 816
(d) 541

Q9. Which figure in the given option, represents the groups of words mentioned below?
Bed covers : Pillow : Blanket

Ao 9 <1 Srpfadl § § F o swia, R U a2 g i Asa w3t 82
JTEL ; AT : T

P a0 ©o
@ O ©) (d)
(@)a

(b) b

(©c
(@d
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Directions (10-11): Find the missing number from the given responses.

e A
SI0%

(a) 25
(b) 52
(o) 12
(d) 48

Q11.
9 11 13
3 4 7
3 4 5
81 176 7?
(a) 169
(b) 143
(c) 455
(d) 545

Q12. Find out the pair of numbers that does not belong to the group for lack of common property.
I & I HT A ST QAT IO 0T FHHY 3 LT Gg § GHIe8 Aol <@l g

(a) 34 -43

(b) 62-71

(c)55-62

(d)83-92

Q13. How many educated males who do not live in urban area?

FI fAfera T g, STt st & § = {ad gl 82

/73 o\

11
25X
O Urban people
Civil Staff
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(a) 4
(b) 11
©5
(d)9

Q14.

If ‘+' stands for Multiplication, ‘<’ stands for Division, ‘-’ stands for Addition and = stands
for subtraction, whatwould the following equation stand for?

20-8x4+3+2=7

I+ T HY FUT FIEAT §, %' T HY AET 3T ¢, F HY S § AT 7 7Y
TETAT & a EATSRd GHEoT & 3T 27

20-8x4+3+2=7
(a) 41
(b) 19
(o) 16
(d) 18

Q15. A is the sister of B. B is the brother of C, C is the son of D. How is D related to A?
A, BHTTETE| B, CHFTATE &, C, D FT T g| D, A | o W< FFaiferd g?

(a) Can’t be determined

(b) Daughter/ ¥t

(c) Son/ aaT

(d) Uncle/ =T=T

Q16. Heavier coins are costlier. Ram’s coin is heavier than Mohan'’s and costlier than Ramesh’s. Naresh'’s
coin is costlier than Ram’s but lighter than Yogesh’s. Ramesh’s coin is costlier than Mohan‘s So who is the
owner of the costliest coin?

AT g FAct €] T * g, Jigd & gl @ 9 § i o F gl @ fiacdt § o g, s g a
FHIAAT § AT AT & TRl & g &) A & A, Jreq & gt & FAdT § I Fa1¢ qa99 Hrat &g e
TH 87

(a) Ram/ TH

(b) Ramesh/ ¥4I

(c) Yogesh/ FTrer

(d) Naresh/ 7T ~Online fGenc

Q17. Select the one which is different from the other three responses. TEST SERIES
I I &l I S 3T o1 qai | F3e g

(a) Sweet/ HT=T SSC CHSL
(b) Bitter/ g4t
(c) Salty/ ThI= TIER-I

(d) Insipid/ sr&=me 10 Full Length Mocks

Q18. Select the one which is different from the other three responses. Bilingual
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I 9T H A ST o A1 vt & F4 g
(a) Lion/ 9T

(b) Goat/ TFT

(c) Tortoise/ g3l

(d) Centaur/ fFa¥

Q19. Select the one which is different from the other three responses.
I I & A S F+F i qat o F94 g
(a) Square/ ¥

(b) Circle/ ga
(c) Rectangle/ sttaa
(d) Triangle/ st

Q20. Select the one which is different from the other three responses.
SH T & A ST 3 A1 q=t q e g

(a) AJKL

(b) IBCD

(c) ORQP

(d) UFGH

Q21. Select the one which is different from the other three responses.

I 9T HT A ST 3 A1 9ol & {3 g
(a) DEB

(b) RTP

(c) HIF

(d) NOL

Directions (22-23): A series is given with one term missing. Choose the correct alternative from the given
ones that will complete the series.

Teh I TS o 91 T @t &F 7 8] Re 7w fAwedt # § 59 adiw a7 Y g7 Sy S@dlr F 1 w1 g

Q22.2816,_2_,176,44,11
(a) 704

(b) 1408

(c) 352

(d) 2640

Q23.1,5,21,57,121,_7_
(a) 150
(b) 176
(c) 200
(d) 221
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Q24. Some equations are solved on the basis of a certain system. On the same basis, find out the correct
answer from amongst the four alternatives for the unsolved equation :

T3 TeitRer o Afra yorret & g fFg T g <t w1 srgaeer w3 gu et # & srgafa aiwr F ISR
|

72 X 96 = 6927
58 x 87 = 7885
79 X 86 =7

(a) 7689

(b) 8976

(c) 6897

(d) 6978

Q25.In arow of children, Harish is eleventh from the left and Mangesh is seventeenth from the right. When
they exchange their places. Harish will be thirteenth from the left. Which of the following will be the new
position of Mangesh from the right?

I 1 TF Ufxe §, T I & TGS T I ¢ ol HAA ¢ F Gogd 19 X 3] IR F ST 0 93 A
& T GO FT T q1¢ & ALZAT 1 9raT g] qv 5 & & Ik i< § #3ver 7 74T T i 97 g7 872

(a) Eleventh/ ¥Tgd

(b) Twenty - first/ T
(c) Nineteenth/ 3sfraa

(d) Twenty - ninth/ IS

TEST SERIES

Bilingual

SSC
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CHSL TIER-|

125+ TOTAL TESTS
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